Déardaoin 28u Bealtaine

6x12=__ = 96+12=
2x6=__ 24 + 12 =
12x5=__ = 4x10=__
56+8=__ = 45+9=__
O9x2=__ 3x12=
7Tx2=__ 90 + 10 =
88+11=__  10x1=__
Ox5=__ 12x5=__
4x9=__ 21+ 7 =
2x11= O9x8=

10

10

fx12=
5+5=

12x1=

6bx3=
9x9Q=
6x9=

132 +12 =

/x5=
Sx4=
S5x12 =

10
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English Version

Multiplication 3 = More big numbers

(Box7= % 1

Change the £rst number into tens ond
multiply. Then odd 2e10 ot the end. %
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1. Now complete these by changing the first number into tens.

(e) 40x 6 = (k) 60x5= i) 80x 4= ) W x8=
(¢) 20x8= Hh 10x9=__ i(g)30xb=___ M 40x7=___

2. )50 M40 (@60 70 (90 (N8O (70

x 3 x q x8§ wb § w7 x 9 x 8

[ There ore 27 apples in & box. How mony apples ore there in 6 such boxes? |
27x6= 77 | Estimote 30x 6 = 180
{7 5 & s 4 t“‘l, z "-"'\..
| WE |
* VAN
} 4 2|7
+]1]2 6] x
|1 [6 1[6]2]|=s
| :
3. Do the following multiplication questions.
@ [RleTu] i ® [leu] i@ [wTelu] i@ [mTe]u] i@ [R]e]u
3|7]: 5]3]: 6/6): 7[4|: 8 3
x 6l x 5| x q|: x 8|: x 7

4. Do these the short way.
(@) 36 i(b) 72 :i(c) 38 ()52 i) 77 i(H 91 (g 45
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Plan a freasure hunt
around your home
for your isolation
buddies on the
freasure map below!
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